MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

(GI-7, VI-VDI-SI-3)

DATE: 26.04.2022 MAXIMUM MARKS: 100 TIMING: 371 Hours
FINANCIAL MANAGEMENT
SECTION - A

Q. No. 1 is compulsory.
Candidates are also required to answer any four questions
from the remaining five questions.
In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of questions top answered in
the answer book shall be valued and subsequent extra question(s) answered shall
be ignored.
Working Notes should form part of the respective answer.

Answer 1:
(@) (i) Computation of Average Inventory
Gross Profit =25% of Rs. 30, 00,000 =Rs. 7,50,000
Cost of goods sold (COGS) = Sales - Gross Profit  =Rs. 30,00,000 -Rs. 7,50,000
=Rs. 22,50,000 H1/2 m}
Inventory Turnover Ratio = GRS
Average Inventory
6 _ _ %22,50,000
Average inventory
Average inventory =Rs. 3,75,000 {1/2 M}
(i) Computation of Purchases

Purchases = COGS + (Closing Stock — Opening Stock) = Rs. 22,50,000 + 80,000*
Purchases =Rs. 23,30,000
* Increase in Stock = Closing Stock — Opening Stock =Rs. 80,000 H1/2 M}

(iii) Computation of Average Debtors
Let Credit Sales be ¥ 100, Cash sales = % x100=% 25

Total Sales =100 + 25=Rs. 125
Total sales is Rs. 125 credit
salesis Rs. 100

¥ 30,00,000 x 100

If total sales is ¥ 30,00,000, then credit sales is =

125
Credit Sales = ¥ 24,00,000 }{1/2 M}
Cash Sales = (¥ 30,00,000 - ¥ 24,00,000) = ¥ 6,00,000
Debtois Turtiover Raio = Net Credit Sales e ¥ 24,00,000 -8
Average debtors Average debtors

Average Debtors = ¥24,00,000

Average Debtors = ¥ 3,00,000 }{1/2 M}
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

(iv) Computation of Average Creditors
Credit Purchases = Purchases - Cash Purchases
=¥ 23,30,000 - X 2,30,000 = ¥ 21,00,000
Credit Purchases
Average Creditors

_ 21,00,000
Average Creditors

Average Creditors =% 2,10,000 }1/2 m}

Creditors Turnover Ratio

10

(v) Computation of Average Payment Period

Average Creditors
Average Daily Credit Purchases

Average Payment Period =

¥ 2,10,000 _T2,10,000
lCredit PurchasesJ [ T2 ,O0,000J
365 365
¥ 2,10,000
= — —— x365"=36.5days {1/2™M
2 21.00.000 ys {1/2 M}
Alternatively
Average Payment Period = 365/Creditors Turnover Ratio
= 362 =36.5days

(vi) Computation of Average Collection Period

Average Debtorsx365, _ ¥ 3,00,000 x365 = 45.625 days

Average Collection Period =

Net Credit Sales ~ % 24,00,000
Alternatively
Average collection period = 365 -
Debtors Turnover Ratio
_ 365 _

el 45.625 days H1/2 M}

* 1 year is taken as 365 days.

(vii) Computation of Current Assets
_ Current Assets (CA) B4
Current Liabilities (CL) =

Current Ratio

2.4 Current Liabilities = Current Assets or CL = CA/2.4
Further, Working capital = Current Assets — Current liabilities
So, ¥ 2,80,000 = CA-CA/2.4
T 2,80,000=1.4CA/240r,1.4 CA =% 16,72,000
CA =% 4,80,000 }1/2 M}
(viii) Computation of Current Liabilities
4,80,000

Current liabilities = ——-=— =¥ 2,00,000 K1/2 m}
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Answer:
Pattern of raising Capital:
Portion of Debt = Rs. 20,00,000 x 25% = Rs. 5,00,000 and
Portion of Equity = Rs. 20,00,000 x 75% = Rs. 15,00,000, of this Rs. 4,00,000 is from retained [ 1 M}
earnings and Rs. 11,00,000 by issuing fresh equity shares.

(b)

0 Gostof Debt (Ko

_ (10% of "2,00,000 +13% of "3,00,000)(1— 0.3)

_ Total Interest (1-1)
Debt

*59,000(1— 0.3) _

(i} Costof Equity (Kg) =

(i)

_ 12x0.5(1+0.1)
*60

*5,00,000

*5,00,000

EPS x Payout ratio (1+ ) +q

Po

+01=0.11+010=0210r21% }1 M}

=0.0826 0r8.26% H1 M}

Cost of retained earnings (Ks) = Ke (1 —t,) = 0.21(1 — 0.2) = 0.168 or 16.8% {1 M}

Weighted average cost of capital (Ko)

Source of capital | Amount (Rs.) | Proportion of total Capital | Cost of Capital (%) | WACC (%)
Equity Capital 11,00,000 0.55 21.00 11.550
Retained earning 4,00,000 0.20 16.80 3.360
Debt 5,00,000 0.25 8.26 2.065
Total 20,00,000 1.00 16.975
Answer:
(c) Total Assets =Rs. 40 crores
Total Sales

Total Asset Turnover Ratio i.e.

Total Assets

Hence, Total Sales =40 x 2.5

Computation of Profits after Tax (PAT)

=25

=Rs. 100 crores  {1/2 M}

(Rs. in crores)

Sales 100
Less: Variable operating cost @ 65% 65
Contribution 35
Less: Fixed cost (other than interest) 8
EBIT (Earning before interest and tax) 27
Less: Interest on debentures (15% x 20) 3
EBT (Earning before tax) 24
Less: Tax 40% 9.6
EAT (Earning after tax) 14.4

r{1 M}

(i)

3

Earnings per share

14.4 crores

- EPS=

1crore equity shares

=3 14.40 {1/2 M}
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(ii)

(i)

(iv)

Operating Leverage

Operating leverage =
EBIT

It indicates fixed cost in cost structure. It indicates sensitivity of earnings
before interest and tax (EBIT) to change in sales at a particular level.

Financial Leverage

EBIT
Financial Leverage = ——

EBT 24

The financial leverage is very comfortable since the debt service obligation is

small vis-a- vis EBIT.

Combined Leverage

Contribution

35

“27 qa0s H1/2 m}

7 = 1.296 }{1/2 M}

}{1/2 M}

H1/2 M}

Combined Leverage = “oMrbution  EBIT 1.296 x1.125 = 1.458 }{1/2 M}
EBIT EBT

The combined leverage studies the choice of fixed cost in cost structure and choice of debt in capital

structure. It studies how sensitive the change in EPS is vis-a-vis change in sales. }{1/ 2 M}

The leverages - operating, financial and combined are measures of risk.

Answer:
(d) (i) Calculation of NPV under three different scenarios (Amount in Rs.)
Particulars 1stScenario | 2naScenario | 3ra Scenario

Annual Cash Flow 50,000 1,00,000 1,50,000
PV of cash inflows (Annual Cash Flow x 4.33%) 2,16,500 4,33,000 6,49,500
PV of Residual Value (Rs. 40,000 x 0.784) 31,360 31,360 31,360
Total PV of Cash Inflow 2,47,860 4,64,360 6,80,860
Initial investment 4,00,000 4,00,000 4,00,000
NPV (1,52,140) 64,360 2,80,860
*.952 + 907 + .864 +.823 +.784 = 4.33 {1 ™M} {1™m} {1 ™M}

(i) Calculation of Expected Net present Value under three different scenarios

Particulars 1stScenario | 2naScenario | 3raScenario  (Total (Rs. )

Annual Cash Flow Rs. 50,000 | Rs. 1,00,000 | Rs. 1,50,000
Probability 0.3 0.3 0.4
Expected Value Rs. 15,000 Rs. 30,000 Rs. 60,000 | 1,05,000
PV of Expected value (1,05,000 x 4.33) 454650 | {17 M}
PV of Residual Value (40,000 x 0.784) 31,360
Total PV of Cash Inflow 4,86,010
Initial investment 4,00,000
Expected Net Present Value 86,010

(i)

Since the expected net present value of the Investment is positive, the Investment should be
undertaken.

}{1/2 M}

4| Page
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Answer 2:
(a) (i) Cost of Project ‘M’
At 15% internal rate of return (IRR), the sum of total cash inflows = cost of
the project i.e initial cash outlay
Annual cash inflows = Rs. 60,000
Useful life = 4 years
Considering the discount factor table @ 15%, cumulative present value of cash
inflows for 4 years is 2.855 (0.869 + 0.756 + 0.658 + 0.572)
Hence, Total Cash inflows for 4 years for Project M is
Rs. 60,000 x 2.855 = Rs. 1,71,300
Hence, Cost of the Project = Rs. 1,71,300 X1**Mm}
(i) Payback Period
: Cost of the Project ;
Payback period = ) = LA = 2.855 years {12 m}
Annual Cash Inflows ¥ 60,000
(iii) Cost of Capital
Profitability index = Sum of Discounted Céshlnﬂows
Cost of the Project
1064 — Sum of Discounted Cash inflows
T 1,71,300
.. Sum of Discounted Cash inflows = ¥ 1,82,263.20
Since, Annual Cash Inflows = ¥ 60,000
Hence, cumulative discount factor for 4 years = X 1,82,263.20
T 60,000
From the discount factor table, at discount rate of 12%, the cumulative
discount factor for 4 years is 3.038 (0.893 + 0.797 + 0.712 + 0.636)
Hence, Cost of Capital = 12% }1*2Mm}
(iv) Net Present Value (NPV)
NPV = Sum of Present Values of Cash inflows — Cost of the Project
= Rs. 1,82,263.20 - Rs. 1,71,300 = Rs. 10,963.20
Net Present Value = Rs. 10,963.20 }1Y*m}
Answer:
(b)
Rs. in lakhs
Net Profit 60
Less: Preference dividend 10 [F{1 M}
Earning for equity shareholders 50
Therefore earning per share 50/5 = Rs. 10.00

Price per share according to Gordon’s Model is calculated as follows:
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_Eq1-b)
Ke—br

Here, E1 = 10, K. = 14%, r=20%

(i)  When divdend pay-out is 25%

e 10x025 25
0.14-(0.75x0.2) 0.14-0.15

Po

=200 Him}

As per the Gordon’s Dividend relevance model, the Cost of equity (Ke) should be greater than
the growth rate i.e. br. Inthis caseKe is 14% and br = 15%, hence, the equity investors would
prefer capital appreciation than dividend.
(i) When divdend pay-out is 50%
0_ 10x05  _ 5
0.14-(0.5x0.2) 0.14-0.10

=125 Him}

(i) When dividend pay-out is 100%

0 S0 s am
014-(0x02) 014

0

Answer 3:
1. Raw Material Storage Period (R)

Average Stock of Raw Material 5
Annual Consumption of Raw Material

T 45,000 + 65,356

= 2 %365
%3.70.644

= 53 days. {1 M}
Annual Consumption of Raw Material = Opening Stock + Purchases- Closing Stock
= ¥45,000 + ¥ 4,00,000 - ¥ 65,356
=% 3,79,644 H1im}
2. Work-in-Progress (WIP) Conversion Period (W)

WIP Conversion Period = fwerage Slock of WIF_) = 365
Annual Cost of Production

T 35,000+ T51,300

= 2 x365
T 7.50.000

=21 days 1M}
3.  Finished Stock Storage Period (F)
Average Stock of Finished Goods =

= 365
Cost of Goods Sold
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_ T 65,178 _
= mx 365 = 26 davys. }{1 M}

T 50,181+ T 70,175
2

= T 65,178

Average Stock =

<4 Debtors Collection Period (D)
_ Average Debtors - B3G5
Annual Credit Sales
_ T 1,23,551.50 < BG5S
T 11,000,000
= 41 days }{1M}
Average debtors = ?1’12’123;?1’35’000 — TF1,23.551_50
= Creditors Payment Period {C)
— Aoverage Creditors - 365
Annual Net Credit Purchases
(?50,079 +— 70,469
= = = 365
T4,00,000
= 55 davs H1M}
(i) Operating Cycle Period
=R+W+ F+D-C
=53+ 21+ 26+ 41 -55
- 86 aays 1M}
(ii) Number of Operating Cycles in the Year
= Operaﬁng3§fcle Period i 38665 ARk }{1 M}
(iii) Amount of Working Capital Required
. AnnuaIOperatr.ngost . ?9’50’00042,23,845_42 H2 M}
Number of Operating Cycles 4.244
Answer 4:
Statement Showing Evaluation of Debtors Policies
Particulars Present Policy | Proposed Policy
A. |Expected Profit
(a) Credit Sales 2,56,48,750 2,82,13,625
(b) Less: Total Cost other than Bad Debts 1,84,67,100 2,03,13,810
(c) Less: Bad Debts 3,84,731 5,64,273
(d) Profit before tax [(a)-(b)-(c)] 67,96,919 73,35,542
(e) Less: Tax @ 35% 23,78,922 25,67,440
(f)  Profit after tax [(d)-(e)] 44,17,997 47,68,102
B. |Opportunity Cost of investment in Receivables 3,46,258 5,07,845
C. |Net Benefits [A-B] 40,71,739 H3M}  42,60,257

H3 M}

Recommendation : Proposed Policy should be implemented since the net benefit under this

policy are higher than those under present policy.

Working Note: Opportunity Costs of Average Investments

Present Policy

Collection Period
= Total Cost x ———  —  x Rate of Return

360 days

71,84,67,100 x %x 15% =¥ 3,46,258 {2 M}

60

Proposed Policy = % 2,03,1 3,810x%x 15% =% 5,07,845{2 M}
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Answer 5:

(a)

T inlakhs

Met Profit

30

Less: Preference dividend

12

Earning for equity shareholders

18

Therefore earning per share

18/3=36.00

Price per share accordingto Gordon's Model is calculated as follows:

_ E(1-b)
Ke—br
Here, E1 =6, K. = 16%
{i) When dividend pay-out is 25%
6x020 15
T 016—-(075%02) 0.16-0.15

Po

= 150 X212 m}

{i) When dividend pay-out is 50%
6x05 3

= - = 50 H1Y2 M}
0.16—(05x02) 016-0.10

When dividend pay-out is 100%

P Bx1 6
= =
0.16—(0=02) 0.6

(il
= 3750 X12 m}

Answer:
(b) Annual Benefit of accepting the Discount

Rs.15 X SEEdﬂ}fS —18.53% K2 M}
Rs.100-Rs.1.50 40 -10days

Annual Cost= Opportunity Cost of foregoing interest on investment = 15%

I average invoice amount is ¥ 10,00,000

If discount is

Accepted
R)

Not Accepted
R)

Payment to Supplier %) 9,83000

10,00,000

Return on investment of ¥9,85,000 for 30 days
{¥9,85,000 x (30/369) * 15%]

(12,144)

{1 MK

9,85,000

9,87,856

H1 M}

Thus, from above table it can be seen that it is cheaper to accept the discount. X m}

{1/2 m}
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Answer 6:

(a)

(i) @W(Eurobonds):@W@Wwﬁﬁw?{ﬂaﬁﬂmﬁﬂ@aia}lm
T B & R 7 8RRy oIy €1 Sen. A9 3T e o § frif fear 1M}

(i)  YolifeT ¥ Hic (Floating Rate Notes) : FaAIfeT Y Hie A ATd &I qﬁudrqdl}
{1 ™M}

TP SN fby I € | vaferd faff g =1 9 & |1 &1 A fhar S 2| 9 faaeh
T B JIT H AR UAT Y& R @ |
(iii) IR RIS YR (Euro Commercial Paper (ECP)) : ECPs ¥fc TH #+l #ldc
i ¥1 9 uh 9¥ § BF 9 URuGadr B e ¥ 9 R R emRe <o ¥ (1M
RUESECIES
(iv) 9 TR ¥ 999 diem s§i~s (Fully Hedged Bond) : fa<sfi df< # wHar a%}
{1m}

JAR—TeMd B SIRgd His@ 8l & [ '8 A g9l [y T 9is arIel deiRi 4
AT R TS I B T gRT Bl J9H: ARIA BT GH PR 2 |

Answer:

(b)

(i) gl &9 @NTd drell fddeu & |ddl & (Lease May Low Cost Alternative) :\
AT @R &7 vy 2| 9% UgeR & vd gREURY &1 ST &A@ forg
YTAM Bl U SRISAT I 8, TP Uel e TP K0T IJdd & F94 © | g BT o™
el FURT B U2 W o9 R WS & g A W IMRT 2| b USaR HH
ANTT & BROT U2 Bl AfD AhYD I § |

(i) @ ™ (Tax Benefit) : ®B 9Hal H GURT & A1fdTd & (oY IucTe AT BT
TR A YT YA & ol Ul Hod | FH 8 Gl @

(iiiy  ®REMA Yol wRewr (Working Capital Conservation) : 5@ @8 BH &l 4@
@ foxig WRer) W SUR ) SUBRYT Wi ®, df 9 & 1 100 wferera fa<rayor | {0.75 for
UG 8l BRA & | offhd S & Al | oM dR UR 100 Ufcrerd faxraryor fAerar €1 ag 3 Each
Frfefier 4ol & ARET0T Bl |erH T 2 | Point for

(iv) T &\l &I A& (Preservation of Debt Capacity) : g9foly, Zvr sfdaci | Any4}

DI AT H gRTATAT U BT I AT Al 2 | IE USER Bl R0 IOV &
foru arfdres oA W wIftd # er™ 99T © | SROT AUy Ui Re b foflv U mH
@ UET AR AT DI F0T &HAT (1, ARIAT F0T &HaT) Hel Il 2 |

(v)  3mde 3R fue™ (Obsolescence and Disposal) : U WR &1 T8 HURT & @RI
P 91C FURT BT TPhb! AT 8 Fhdl 8| TPl Adold & fb I8} &Hdr drell
Th-d BT F S HURT WRIT & 915 AR H 3 Fhdl & | UforRueicid @ g97¢
@ B Iy ST @ ®U # USAR $1 S URKIURT B 10 o US GHdT &1

Answer:

(c)

=g yaers & <1 g Sevd faxfiy wdgd & a1 Seed &
0] ™ SfSHaAdRYT (Profit Maximisation) }
{1 m}

WRIRAT wY F Jg dF Q7 AT © b duAl B Tafie ST o IIfoid BT 8, $AfeTy
fai g &1 Se¥ oA™Y BT AfTHdH BT Y B |

(iiy &9 / 9 ARHIABT (Wealth / Value Maximization)

¥ / I AABTABROT AiSd | IRRERGI B FURT I F9I 3R SARGH I+ T & |7
T & A1 FHEINIG dRTd a9 fageyor &1 gRomd 2| a8 foxfi udes &1 arafas Seed
& | gafor,

{11/2 M}

g = Ml BT GAHM Jod — AN BT JIH G
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ECONOMICS FOR FINANCE

SECTION - B
Q. No. 7 is compulsory.
Answer any three from the rest.

In case, any candidate answers extra question(s)/sub-question(s) over and above
the required number, then only the requisite number of equestions first answered
in the answer book shall be valued and subsequent extra question(s) answered

shall be ignored.
Working Notes should form part of the respective answer.

Answer 7:

(a)

(i) BH A T B B T e i
Gross Value Added (GVAMP) of Firm A = Gross value of output (GVOMP) of
Firm A
- Intermediate consumption of firm A
= (Sales by firm A + Change in stock of firm A) -
(Purchases by firm A)
= [(ii) + (iv)] - (vii) = (1500 + 200) - 270
= 1430 Crores
Gross Value Added (GVAMP) of Firm B = Gross value of output (GVOMP) of
firm B
-Intermediate consumption of firm B
= [Sales by firm B to general government +
Sales by firm B to households + (Closing stock of firm B -
Opening stock of firm B)] - Purchases by firm B
= [(300 + 1350) + (140 - 130)] - 300
= 1650 + 10 - 300 = Rs. 1360 Crores
(i) S OIR 99 R ¥hel TR SR
= Value added by firm A + Value added by firm B = 1430 + 1360 = Rs. 2790
Crores
(i) A AT R YE TRe], SR:
NDP FC = Gross Domestic product at market price - Consumption of fixed
capital - Indirect taxes paid by both the firms
= 2790 - (ix) - (viii) =2790 - 720 - (375 -0) = Rs. 1695 Crores

Answer:

(b) fFI R # 93oma To A &I TN B & fIvg T AT Ifg BT AT | T Bl
gfg dom N T A SR @1 qadc @1 aftia &Rar § | BN W ghg BRI 8 ol $Edl el
U 3T BVl 3fAT 3T PG BT dRBC b Fael H dadl & | 59d Aud Hvdl d &9 g1ar &
T U A BT AT I BNl B dRDbe B dey H qed # iRme ol 2 afy swn
SieR A &R $1 = ®U 65 to $1 = B 68 ¥ Tl ©, HRA WUAT B eI H FRMEC
3 AT JferaT MR wOAT H §H g & AT US SfeR # IfE g8 © | 390 fAWd 8 a¥el |

gfg orrar facel & 4 @9 BT © o9, facslt el @ 8 el I H B g8 B
ATy T8 B JAIHAS B ¥ 31f¥d Heama™ 99 Ol ® | FAlReT YT Rived & ofaeia, afe
ST 8 AT AYfT g% 991 gaarg & el @, 9 (el Hl &1 f[AFmT qog gedr § ar
el ! Jod | R Bl 2

i sreiegawen 4§ Ay & 98ad &1 99a 4 2

faeeh fafvg 99IR & g1 SFT Ucger deim el ®U ¥ el Jddwel dl YHIfad dRar © |
| UPh ST X8 WR Ud Q¥ Bl BRI Bl U ghg (BH1) ST AT BT JoaTcdd HrHad Bl

{2 M}

}{1”2 M}

{12 M}

{1 M}
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9QTAT (BH) BRAT & TAT FHBI AT DI JATHD DA Bl HH (T 2) ST AT qAT F+raie
AT H 9 B RSB of Sl © qAT YR A dd d Fafd joa § 95dd 2 |
I AATID! DI Yfddel ®U I AT DR & ddifs S5 AR B AT ATAT W STET =R,
B TR SITRT BT YA BRAT AT qAT FA1TH DI ™ UgART © difch PRl Bl DAl &
He¥ H SITRT UT) BT | U SfiegeRell & foly Wigl R i i wu 9 S=d 8, Uh dxdl
BT A BB A T | BRG] P B T G TR WU A IAfad 9K DI JeAAHAD DI
BT P BIAT & AT I BT QN 9% W el 9K P! WS AlSdl © | IFI BRG] AT
yfcreag! avg den fafa & forg 9t g8 @i anfdies wfafafd &1 urearfed e=ar € den aseye
fIRR 1 G PRl & | Fegel § faf-rmd ex & I R W) srefegaee R fawiR g4rg € |
T AT eI & URUIFREGRY Igd] AR HI o 9, R 3ferar 37 9t 81 &, 39
R R & 1 AT @ S Td @ BEd @ wU H S ufierd ¥ 3ifed B srar a8
REA 2| TE BT Q¥ P AR & HH W Y9 BIAT & Rifd g M B¢ ST & forg
3 #Em T faqw & forw fFaafd |war 81 ian 2| I qw @) I Wred R )
UIf BIil 8, B 9@l AT YA & gRT UAIAd Bl & qT RO dedl @Te] STl =Te
T Ul spferaRe & oy S9ET T &1 WY ARG SUHIGT a%] Bl HIEd R 5HD
TTd oI BNe] avg & foTg dgcdl ART @& HRUT SYAIGT diFd EIREIT BT W 9gM dl FH1a
2| UG AfE BRI AR TN SUHET BT AFTSTOT JTfrd BRr & anTd § A9d gy a
ScaTes H ygad wegedi @ SIRY 8 Al © | {1 M)
TG Uh A BN BN H TG BN 2, T G qm S M S ATuR 81 ST |
gAfeTy, ST T Haex AR I I &3 H de-1 doll IR AUR I7g 98] o 9 A &
fog URT M1 | Fald SHa BT &8 &R, BT S8R SN Bl ARSI ufcugl H gfs,
Rt &1 areg | 9fE, ST SHE &3 | ARG T DI 9T qAT AT UlRUGT ST
TAT FTUR Y DI g H ASIAT BT 2 |

gfe i 5@ o= SN ¥ Se9d BT 8, 9¢ 8Y MR a1 Aolgyl, SR ToT 371 TR
g 1 gad B | afe et & forg sAYe don e SuTeTaR senfad @ 9o 'R w9 9
IaTied T8l fHAT ST Ahdl, 961 g8 AT DHIAT IUIGH Bl AN, TS DA DI GGRIAT Tl
qREfd® MSTYC DT HH BT |

el doil eriyars faRmaar ¥ My ) SAR @%d 9 A9 © | BNa &4l S9a [Fderdh
HAGAT DI YAIId BRA & AT RIS Yoll JarE & Ued R FIfdeR) yarg 7| fageh faee
B U ¥ ForaH Sea |y &R SaR @ed H Mae 9 yd fedl Ao &1 1 o srerar aifd
|ragr B8R | faeell ucde el yarg o ghed I GWEAl & qof fdqel urcwniferar e @l
FOT TAT FAAT ¥ UAIfRd B @I AWET | e faceh fder, e @ gfg den arafae
e & fou omawas faer & weg U @ A gerd 21 W @) @ H, RIEIRI @
srefegaRer # 9@+ @ AHEAT B |

Ife e Faa 39 @R @l 2, fb I N & & & YR B &, Gchiordl e &1 a1
AT # 3MERYT der dRae fafra amiRd we & SiRY 99T fadres 81 FahdT 8, ST ave] axdl
3T T B HHdT | SN IRV Rl et BT UIfdd &= arell *1fd SR agmd arell &vel
AT IISTR &1 Fehal & Sif BRef, faerl & favard &1 vifad dwar 21 {1Mx
HHfEl ST e aifoicae o1 (ECBs) & Wiy faceh a1 & o7 forn § g faaeh
faf & foeg T wU 9 ufoRem 98 &1 9eRIAd ®Y I y9Ifdd 8l wife sad SHe
FOT BT A @ oIy iffie eRel Sl @l Tawddal gRfl | Udh BRI BRG] dRdl S
FOMR I W IERAT TAT Iqdh A Bl BH B qAT Sd] g0 DI Uiddmed d YT
¥ | e ) SR de[ %W & forv s quifgam &1 sarer &fes amreft qen 2T &
SIRY fafra SiRew & fawg I/ & fog o<1 IR &1 =a=m 81 |

e el faae wwfcd &1 %3 fhar serar e o faesh =01 & 9 fbar w@> &l
facel faftraa SRa| &1 T SRd gU uid 8 | Fefy, sifarit dor fiqer 4 =R gy au
T8 A H B Bl & Hed H SIIET UT BRIl © |
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

faeel ¥ 3ifhd TGN 0T & A H, AT T AT YR BT 9T <77 o faash o1 &1 )
A & Y $IY IR SqTd STl |

TF AT FERd BRI H ERARI JoRd Bl eI, Ry wu 9 IS I awasds 9% Bl
SATGT JMATT HRAT & | & Bl WReR Bl faceh sy seor o & ¥ & for g vl o
Soa a3 # uRomg g | J

Answer:

(c)

A U AR AT AR R G9RE Ue ey Ao $ onlg wdeite 9w @ o |
R—aUeqy 8 i AR &1 SdhT ITINT SR F d18% 81 T Sff Gohdl & | IJ§ URHfd H
gfiggl 2 iR SdT ST SRl @ foly Iu oM &¥ &xall © | I8 AHI Gael al
qﬁ@ﬁuwﬁ%ﬁwg@ﬂmﬁwmﬁﬁwaﬂﬁé aﬁmwﬁ?mﬁmeﬁ?
IR ufiiggT M1 &1 Uee| el 81 9 AR IR ged Suael & B HedQUl UThfad
a5 Ao H 3 2 | J
[P Jou 93 A FAEHEl W AN T8l BIdl 2, ScTad] IR SYAGIRI 7 39 FHEAl B )
A A8l fBaT & 3R 9 &I YRR #Rd ©, iR [P B SR ARMET &1 HROT 991 3 |
SO S GAEAl B ReRaT & folw waRy Uer gien € SR gafery wiisy &7 difedl & fory
ARG U5 d AATEHl B SueTedT |

SRl W AT B ST Wed BT YANT R B, Sl SH FHRIT BT GUF ST & Sl a9
Waﬁ%muﬁéﬁﬁvaﬂ%ﬁum@mwﬁvwﬁgﬁm@ﬂwzﬁ
forg forar Simem 2 |

Answer 8:

(a)

T e yrer FIae ¥ ScuTa SMER (Baed, Uae wiie s & | ¥) 98 vemer for )
2| ag yramdl <o 7 Arer AR GRIT HRar 2] 91 @ fadeh gowe fFawr FDI e BRef
T ST T UEEH URATSTHT H deTdl <dl & Sl 3R dT &l ds! |l § 1d & Ol
RISHIR TAT 37 W ggY0Ih U91d bl Giotd HRd & | FDI AT dadl ATl ISR AR Bl

{1 M}

b {1 M}

GRId dRd © WRg 91 H, qrer 9ol el JS1d & SiRY A8 AYET AR a6 Bl ) {2 M3

IR & | g W Tl &1 ST © T SATT el ISR a1 Wk 9aT & Fadrd H§
Al & forg GRS 8N Sl U 88 b 39 sdhIsdl ¥ o< Aperal a2 Hd Riferd faaar
P YT BIAT 2 | SABI UG fIY w0 9§ Ag@Qul © A UTaiehdl < SRl a1 & BRI
S BT D MY & 7T U fAdmRId 39 2 J

faeel grer e gue &1 & fy gorioin Sod Aol &1 W Hage el 2 | Jufy arf )

a7 q&ar &1 SMaeddal 8 dUT goidd Mo & fog Serfl Gadr @l maeadhdl Bl
WG I8 < H YT A & 9T SAMCIY ASlad < & UK Scd Udgdid B bl &l
ST 2 Sl del GRIeAdT JT ARIAl BT =T WR B AN BA & | $HBT IR <7 31 WK
AT favgd IUAR Bl RIRNBRY, YA BT D 41T drel BRI H afdqal o1 A &1 aRomd
B F&Hdl T |

FDI &1 |HIfdd SUANT Ush 514 98l < H Yol T8 dRid aol 574 gord Urelfiiel § &1 debdr
2 S o BT fRUe 8B |HhdT T 39 UBR B Welfia s/ 9gd < & oIy Jrgugad ©
FAMb & BRI Bl Foid DI AHT eI Bl & S TN TAT IRISTTRI B FaIerd HRA & fory
Teaqul 2 o {6 &9 fawfaa < o fRfar &1 <1 qord &3 g1 7 Saa I8 e garsat
AR gord # fawet & & Reg I ST | BRe], BH BT qeR wR ol 2 e aRoms sm

P favemuT & TR IR 2| )

Answer:

(b)

STHRT B AT STINT F TAT AT USRI A7 3 & 7eg hrafcd dad &, O & %u
H e BT ST MUSRT A1 3 &1 IS WR & Jwd STHN & WR B fa@rd 7 |
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

T Ugd Sl & | AT AScTYe 96 SR IR I8 dbacl AR arR<ildd ASSYe b

JATICYC & IMEFT H AN I Ik HIAT Bl TR% o SIal %Wawasfm@ﬂrgﬁ?ﬁw}(
1M}

WM TR Iz PEd BT TRARIT Hedr 2 |

Answer:

(c)

IR fatherar v Refd & R gad 9ok G- B Gueagde dfed & § fatd)
el ©, YTy fdh I1 A1 faRIy avg qr Jar &T AfT STE AT HH I 8 Sl Jfagiad
GR YRV | HH & TRG o ST 2 | iR [A%ardr & forg &Ror qea H 2 & J=fu gof
wU ¥ UG I9R {IAAdd B SR 7, SAROR Ui URUGT &1 d Sawdddl ol
Teh 3fefegaRell H SURIT BN &1 WGl 8l € | JIoiR [Jweldr &1 &1 uel AmHar AT H1 TR
I faerar qom AYfd $ TWRE A [Awedr § | AT P TRE A B B 59 I~ HET Sl
2 9 AN 9ehUd ST & oy IuHTadT &1 ot 287 HI f2dd § 721 ofar| mgfd @ TR% 4
R fawerar gfed a1 8 919 mgfd 7T IAre Bl Ianfed wRA @l gof artd @1 feifag
TE B |

IR A®AT & IR I BROT & | d & IR 2K, IT8], Alaolidh axg] T gl a%g e
Ut J

(1) Nfra qoiR ARHR TAT THIEGR ATHR Ubd SATGH I1AdT IUTEH DI BIE)
T Bl gfaug] aeR W Sred W $H AScye BT Icdad dof fdml Bl qer
NfAd BT RN S AHRIAD MAH o™ Il 2 |

(2)  arsrar 599 ‘spillover effects’, TSIl UM ol UeT YW 3@l ‘side-effects’ @&
w9 # W dehia fhar Sar @ S~ 8iar ® ST ST 1dT STTEd & hridrel Bl
TR AT 31TdT T 6T IRUMTT & S 9ok $IAd & 91T & wU H yRdferd Fal 2 |
eI ISR AR I gl & iy d fhaan Ianfed &_ar & a1 fhan Ha
FRAT &, IR H Fel ol Bl o7 & oY IR SAd DI IFIAr Bl AdhaT ¢ |

(3) T oy (R Gufed SuMiT a% Jefal AHIfTd 9% @ WU 4§ 41 Faifa fhar S
?) ofvrsy avg ¥ e il aafdd onvg Sed € aor IR ST @R AR § ar
ITNT H RG] 8| 39 UBR & 9] &I AfdiTd START {6l o afdd ImanT 4
TCId @ TR% el o Sl d SUHEdT S99 Bl STHET A § AT T8 AR

—~—

o | (FF F BH D BHT I HH) o9 9] deIR AT B AT & w8
BIdT AT IOTR TR BIST Il 8, S7e Scdliad el fhal SR Jfefal oF Sedfad fbar
SR |

(4) Yol o gof G & AT S UfoRgE] iR $ fIRar § Sare ar war &
Af Sifcd el & IuHTEaT @ dgdT /TR H G o1 DI UG B H SRIHIT,
IMYE AT YU T[CT, A, FAT B BT A9 TAT HEl AN TAT AN & aR H
FHREaar & HRU aRAfAF IOk H QUi G T8 5 | g fAwerdr g dged
PAT TAT AT & BRYT I G GAET BT TeAd AT DA IAHIOT & IR
YT 98l 2| 3P YT Bl ‘Lemons problem’ & w4 H W HaRid fdbar Sirdm
2| S S BT ® 99 ol fasar e Sfar ® ferar fawdr war 9 e
ST &, 999 Bl dredl MRISAT & dI IR f[IherdT &7 SR gd1 7 | Ufdad a3,
IR fAwerdT &1 U& o SId e Rfd & Rrad Joradn axj &1 gear 2| s
GRT AT BT BT AT FIegR & qN H Fa BT A™F H I b IR GIdeh
SRS & SING A Giad Afd BT Uh Jiod AR BT o™ B o & §RI Uh

DI HIAAYAD & B I AFIAT BT GATIT HRaAT 2 TAT S IR fAherar

AR FIRIaT © | HelT ¥, 3rHqWa AT, Ulidhel T doIl A WavT droiik 1 AAmA
a%a%%ém%ﬂ%émw%wuwwmwél /
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

Answer:

(d)

WW{%W%W$WHﬁﬁﬁWW%IHWW$W,W&T{ﬁaﬂﬁw\
dad 96 g1 dfeuita far Srar 21 fgdg 7d 2 6 g9 omufd @1 anffe wfafafy # 9gema
@ gRT 3ol wU I FgiRa 8Iar © | S 99, 16l &1 & $IQ & Aee 3 ST $I &l Bl
gIRT B B ST B 32T DI YA BRAT & | G Ufded ‘& o U’ TR 37TeTRa
g AT BT GRS BT T HRAT & | Sl &4 AR AT I2d Al &9 & Fad H o7 Tlh
qerm g Yl b HeY Hag H BIHE bRl © | g AUrE @Al © (P srefegaven § A €
D B A BT FERT LI b, RIS d T a1 BT GYad FgsR gRI iR

—~—

fopar <IreT B | J
g YT BT gAY febam S &
M =m x MB )
SEl W M g9 AT 8, m &9 0P & aAT MB HIfad AR 3ferar S<d Wfdd &+ & |
M |
Money Multiplier (m) = oney Supply
Monetary Base

{1 M}

aﬁwmﬁmﬁﬁﬁ@wﬁma&%ﬁw@m@ﬁ@ﬁzﬁwﬁhlm

RIS fBar ST & | Ui Had <dl € fb € MR &1 IO Bl €9 MY H wuidRd
fopar e = |

Ife Jza wfdd &9 H gig g1 § 31U AT B Uil &, g AN 98 ol fARIR H A S|
I Rl H, M @ IR, 4&T 3MUR H gfg Sl gaT | Siar & o 98l fhar Sdn, Sfafd
q&T IR ¥ gfg i Fearfl S H Sl ©, $I o7 {Har S 2 | J

Answer 9:

(a)

®y faeiaa qor faeraele sefagaRell g def AaHR | dedl AFAF B FAKRI BT ATHAT
IR @ 2| fawes < o gRREd w7 @ g omg &1 GAfIaRTT avdd wU 9 Udh faw
B 7 | I A g fIdRT &1 gifdd a7 & forg IReR @1 Suael §&= 2R 2 o
AT BT T H Heayol YA®T 3T&T HRAl & | TG H AR BT [IAR0T Ucier T 3l
w9 ¥ fad N g7 wifad gar 21 99 @fed dem M @ adHe g uwie 9 W RR g
qfasr 3ol & oI FYTaT e w9 9 g &) facg T 9 wfag 2 2
WREHRI ARG qAT I Bl WARNE ©Y F 3 BT g4 JoRoT w1 & forg v Agcayol
IR & ®U § AFT OaT 21 9 9 TS B Ued [IaRoTes gua @l urd aRe & forg
T fBar ST 2 |
. T GIfRiel Ucdie] R bl SRRl B Hed Jferd wY W DY AN BT fAaRT AT ARDR
@ P DI 989 B D (oY SATGT IS BRA & oY YA BT DI SITGT AT
BI G BT dTel UIcdTe BT R PR & oY IuYad wU I (Sorms |
. I PR fANGd B Ahd © Sarexvl B fory, g% S8 qrId: 3RIR 1Y 98 & gRT
IUANT fhar SIar 8 ol faenfiar oR 9N U | R SR ST © e aw e
Y gF I FE BT AT BT I8 AU P WHY I7dT & oI IMIeIHal W g
PR T ST & | FHfed BR GFl 3 & WA dAT b el Y [aaRv R &
®Y H FHTH Fa 2 |
. AIEASIh T B YD ATSTGG A TS BT FHR F RGO B - BT G
fadRoT & FEIAT BRAT 21 59 NG d9Dl d U Hedor 49 R 4 Y HrRIBH b
SR T ST 2 o
(i) TR I FREH |
(i) Frged sreEr Ramdl fRfecar aRa=l, R, 78 smawds 9wg oI e &
ST @1 T[T BT IR ¢ | }

l4|Page
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

(i) TIT MR TR ALTARTAT YT |

(iv) T amIfoTe gRem AISHT doIm 3ffdd @Riel |rHIfoe iR forde sfaiid
afdd IR IS, AMINTG U, I Ahe 3faR0T BRIGH, IRISHTRI T8d, I
Al 3AE @ oIy EHER §HICT B |

(v) FE® SYMNT H1 I BT RITIA I |

(vi) QYIS ax] B A YT B GARAT HT & foly &9 e qAT/ AeraT
TETIAT BT YT HRAT Tl

(vii) ISR AFIAT Bl 9@ & oI A Yol DI Gg& bR |

g faorer Aifoal &1 femes SFi g fAaRa don gereldr Sgawd ®I |El Sl

RN | Sod AHid R o AT WIaehd & RRed &1 999 d, g9d qon 9w &

forv Terad oreRIT & 9 H B B Ahd B | AN, B GRAFT DI ST qell

BT TR F9a Ufddrel YA &1 & oy &MY wU F a1 a1tV | 39S ffaRad

g faaRa fa Nfa den g fAdRT R = @) 88 W e AIfd Igewy ey

U W IAE B A AAe ¥ & A1 dad 2 Ay |

Answer:

(b)

Answer:

(o)

dhe Hd AU (CRR) WRA H U fer ailtifiad 4 & ol Y ol ol T9 ST
(NDTL) & 9T &I Wefid &xar & Sif RO 96 & AT Fhe oF & wU H 991”1 QAT a8y |
IR Rold 9@ refegaren # Aifdd Wi & 91 3@ & folt Jeaik Sqad & & H TGN
U BT UC PR Fhdl © | MRS b B BISC Goi &ad] Tha AR FUrd I Ieel
Hefdd g | foa it & e Ui 8 Sl BH BIST Jord dT SHdl Socl 8 Ahal | )
e | TGUTd (CRR) 7 BTl & 981 § TReAdl Yo & Feradl H Udh Agayol AEEd gool |
@ WU H AEE Pl AMG § | RAI Red 96 & o [ ofte Fee W9g JrguTd Jifed
BT, I RIReH ARl HH B TAT SHPI Socl MURBIT & IR d6 BT HfSc dor A
A PR B oIy RBI e Wod UM B HH Bl & qAT JdgaRel] § U o B
MYl Bl gerll & | qaT Rl 31 ay & IRM biee [AWR &I AT F3 & oy RBI, THs
Ho gurd # gfg dl 2 | J

ST Iq= BT § S i Ul 'R iR H 9@ s 9 o9 H faqw d |9 axg bl
JTd € AUAT IATE &I Yot 3 T HH WR I & | ST awd AR dierar aai 8@
Aol 2 | ST THTeR ReIfd &1 wnfid o3 o ol 3 MU eNe] STRd! ®I 91e
FRA B foly IeaT dMa & wU § UARIT Sl © | ST a1 a1 &1 vel @ g
IRISERI DA HeHd & UWR=] a4, Faided SIgeiar JAMTad G2 BT 8ve] IcaTad] bl
B Ugam derr 9ok R U aRe & forw o9 @1 sred € | 98 e fud ¢ dfdew @
qAT TRl SATCHI & oIy WavT 7 |

Tl ST AT SRUT @1 g9 B ST de B @ oy MRS Smad e T o T 9 )
AR 991 2 | 377 919 DI fAqell BH &1 M dEd A Bl 3% AT BRI D oY GRell &
wU A IRA HaT | I8 d9 & ST 7 A Bxel SN ARG Ulag! & gRT THR U |
JMET Bs © AAT ARV I B H T (AT IR BT AEARN AR AT | HH BT Sl

{2 M}

\ {2 M}

{1 M}

{1 M}

{1 M}

IATEH BT UG 8ar 2) | )

Answer 10:

Aifad U9g @ U 6T RIRISROT ISl B RBI &I IT8IHRYT URDATAT DI ABTI] Hﬁr}{l -

(a)

T BT UHY Sqavd D AT Ro/d 99 i 31 q1 9Rd WRHR & Heg MOU & 4T
2004 H gd foa |
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

IEANHIUT (Sterilization U ¥ e g Aifes wiawer g9@ gRT a1Rd WG
TIRfdl BT i BT 9T BT A6 gl & RT BXe], aReldl R 9 fIaei goll sr=ivarg &1
UHTT BT GETHRUT Rl ©) 9 ol @ faHd WRT IRGR RBI ¥ SUR ol ® (I8 SUR §9 {2 M}
UPR B AR FOT AEAIHAT ARG ©) T IS goll =ivds 9 IqH IR 3
STATED TREAT BT JAANY & 1Y DIy et / faties ufoyfa &1 SR -l § | )

Answer:

(b) MR X AMALIHAT AGH < §RT oA T (LCRs) Ud I & Sl F9aer ®H &I g 37ef |
IRl H URATE B @ oy exel w9 ¥ YRS | 3@l =Ne ®U ¥ AHd avg &1 %
qAT WA & Y A BT e & fU decll 2| W w9 I gfd a1 @ oy ifiw avg
PT ofer BT AT AT Yo N (STTEWR: WM ®T | IIRT ST FT e BT 25%) F ag ({2 M}
IR e fhar ST dadr € & b 9 &1 o &1 YAod 2RI [E eI ddgd bl
gfaifeea e srerar Hifds Jfe 3§ 81| (STERVA: Yo Il BT 3T BT 50% B IR~
Y A IR HRAT ATRY) |
$TYC BT BXS] SUEH & A H, WY 9% AGeIHal SATEl AT Bl Y& PRl & Sl o |
WwﬁWW@?@W@@?H&TG@W@W&W%@Q%@W@MM}
T 81 O T ST il BN | R fI9 aedadl STed & o Ugan 2 e =
fb SUUTHT DI Fifh ST YPR P ATITHAT BT Bl g6 Fhdl 2 | )

J

Answer:

(c) GATT 9 1980 dd URIfTddr &I @ faar Faife—

(i) IE THRAT JTNHROT B gIRT fAR9Ar Il | SHRAT FHGTA Sifea favd IR qﬁg??:
BT qrRIT off |

(i) RIS (Je &7 i w9 9 IR gar|
(i)  9fS® FEET PR TAT AT F§ AR BT GATT §RT HaR 181 2 |
(iv) UR aiofiTes @amaR § &9 g I AR gig 83 a1 sHS WhIU I 3fed o | >
(v) g RRed # 9rdar &f sraenfyd fdar S |war 2|
(vi) R qr faare MuerT Red # sroaiadr g |
(vii) R AREAT SR fdarg e womell # sraterary of |
(viii) I8 U \HSIT TEN § TAT $A(AY GATT B U g &l v, oo & fawg e 21 |

{Any 4 Points each 1/2 Mark}

Answer:

(d) GDPW%%meﬁﬁmwﬁﬁawqﬁm%ﬂm%awwﬁﬁ?—W}
{1 m}

WIGT BT STl HRAT & | Had Ided H Y ddT & folg STUTGA &1 UIfHG hacd &1 @l
SRT AT 3 &1 gy # AftAfera fasar mar 2|
WwﬁﬁﬁﬁawwmﬁmﬁwmawW?ﬁm%mwélw}

{1 M}

YA IUTEH BT A & TR & FHRY T8l & Hifd J UeT w0 A AWM Bl AT
TE B AAQT IMICYT DI JroTd a1 B o | SAMIY AR AT S UL TAT 3= AT
JREAT AT BT TSR MM ¥ STl fhar e 2|

Answer 11:

(a) UHY AqaT: \
(i) MUR ITRIGIV R Ig—AIM Aiadroll R g T 91 Tl & He UHad dl

AMLIHAT I & wd H HRIas! dRdl § O Red H derd & gioad axdl 7 |

IR w3 U §9T fAdhed &= ST § | >
(i) & |Esiar &1 Sfed Seas IRaw R Red # sfRedar & wgd axar 2|
(iii) ST9 9g—omIM IS ax R Y9E ®U F SRE I B4 [Bar, §N, Huer don 4

MR H SERIHRVT H SUARYT © TAT SRS aforsd # 3T & =909 g | )
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MITTAL COMMERCE CLASSES

INTERMEDIATE - MOCK TEST

(iv) TONTH Aedrol SN S8l faerd I es G | 8 A1 d1 S9a) Af¥ed awerdn
GEIC R
(v) TURKIR <F 99 w5 9 el o2 & A1 T &, IR 4 R I8c ThHe &1

If9®H AIR & q¢M &I SATGIAR dToTal Yof Fel gY |

(vi) fImraeia <= § $2 AT yee &1 2 d1 994 9 §B B I8 Ud har 2

Answer:
g, TREUR® TIE AR & oy 61T & | {1 M}
U TR & [P I B IR H T 9%g B i H AR s Aty forad got w1

(b)

HN, HUST TAT HaT B A T &3 H AR BT IRdD [RAR FRIEITSHS 7 |

R <3l # AReTvrdre T Ig—3ARIT IR GIGIR Ugd Bl Y B H ST Bl

T b3 fabraeiial <2 T &= fddmey BT WoH & )% o oIl ¢ |
famraeiiel <ol 9 wfeAsa 5 9 ga99 FHsial & drR-aad § AEET &R © ©
B & GET H By qaal bl IO |

WTO HATel |41 H Udhe SR <fervr favre = fAsfia <9 & WTO y9mad &
T AR AR & IR # fadrTeiial <20 &1 9idbT & gar <1 2|

famraeiial <9 Rrerd axd & fb 7 @3 IR § 9ufd Sde IR SareT SR% &T
AT BRI © TAT I 9 Agayol fafd o1 Jad 2

e 3 W Ridr SRw # 81N ©, STel R SITd Q¥ $edl ArREil qr Rl a1
JATATT TR HH Yobl DI AU §RT URIRAT 3rerdr Frofl IeRT o1 HR1E var © |
MM &1 G9g ARTge 2 A Bo faereiia el 4 MR f[AsRid < gRi
gy faory R Rarad @M g IR <RI & 729 fdR HH 89 @& R HH
3ref qof g1 |

®¥ fdpfd Qe J9a qAT 4ifde Yol Bl IF|ME, TRIE FTERET AT AW,

ﬂaﬁﬁwaﬁwzﬁwwzﬁﬂﬁaﬁﬁ?—mwﬁﬁ?—wmfv

Rerfa & urad 21

HH T AT

IR BT AT RTHH Jd & SITRT 2| 39 UPh IAIeR0T B Fedl & gRI W

BT ST HaT B | (JecHS o™ BT 2AN) |

Answer:

fafr=1 Rerfa &1 aoR aRom &1 < e &

(i) AHRIAD STANT 91eId, AMINTG IRTd &7 8ard T8l o T SirdT, TR fqwerar, &1fa
T |

(i) AHRIHD ITART JEId, ARV dTeld, FSd] B ¢ He, 69 SN H gfg, 3 W
ST JIRIEIT, AT AT bl 2919 &1 919 8l ST, AT SreH |

(o)

Answer:

(d)

JE—AdSIh I AAT HaAT Sl T O 9% el © (IIERVE: Req, w@wey

T Aol

A R, T A g B I TAT IRET A AN BT I S GRT A STANT
YIAM AT A Tl SYAEGIT P [T BRAT §9d ¢ | §9 98, AHal ¢, Urb dell
ﬂeaa%aaﬁgéwmzﬁwaﬁﬁﬁ%qﬁmﬁwmwﬁﬁ?ﬁgqﬁm

QY TG ddh

Waﬁﬂﬁawwﬁwwe%mQ#?mW%lwﬁwwaﬁ

52

TG DI T IO TAT G A DI A BT Y8 Rl & | I8 I BB AT

o

i

Jrdiepd B A 2 |

4 &

4

FfIT BT T AT JAATBI & Kb FATS d8aR 8RN IS SATGT SIAAT IHBT STHNT HAT 2 |

ERCAREEL]

S

fIRIYaT AMa oFd a™ qAT BT DI 9 BRI DI IRJAT BT R TSR

V
{ Any 6 Points each 1/2 Mark}

}{2 M}

}{1 M3}

}{1 M

{1 M}

{1 M}
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MITTAL COMMERCE CLASSES INTERMEDIATE - MOCK TEST

SIRY e S DI TEET TAT A Pl AR RT Y HRAT © | $9 X8, Sl qelldd @
Hhcl & fb 58 B dOR R BISA 81 AT | 31 Saw] & oy aIoiR &1 gl areiR
HET ST & T Jad d6R & §RT UIGE &1 S 341d DI JHeerd] a2l dIeiR [awerdl &
wY H ST ST 2

>k k
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